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Name. Week of December 16
Get a fidget spinner! Spin it. I needed to spin time(s) to finish.
28+7 =____ 9-5=____ 9+7 =____ 6bx8=___ 8 +3=___
7+4=____ 3x8=___ 4+7=____ 7-3=___ 6 +4=__
3x8=____ 5+9=___ 20+7 = ____ 6+3=____ Uxt=____
5+3=___ 8+6=____ 28+7 = __ S+4=____ 5x5=___
5+5=____ 3+7 =__ 7x3=____ 3x4=___ 8 -5=____
57+ 6 = ___ 75+7 = __ 16+8=____ 33+9 = __ Us5+9 =____
68+ 5 =____ 24+4=___ 59+5=____ U7+8 = ___ 25+9 =____
39+3 =__ 65+8 = ___ B8+4=____ 76+7 = ___ 68+7 =___
35+4 =_____ 58+5=____ 5+8=____ 73+5=____ 29+5=___
U7+8 = _____ 73+9 = ___ 39+6 = ____ Ug+5=____ S7+7 =_____
67+6 = ___ 7+3=____ 4+6=______ M+5=___ H+7=____
59+9 =____ 66+ 6 =___ 28+7 = ___ Ug+3 =____ 33+7 = ___
S4+9 =_____ 47+3=____ 77+5 = __ 38+7 =__ 4+8=__
b6+5 =_____ 9+3=____ Us+6 = ____ 37+5=____ 78+4 =___
29+7 = ___ 3+3 =____ 72+ 3 = ___ 67+6 = ___ S7+3 =___
6+9=____ 23+8 = __ 39+4 =____ H4+7 =___ 23+7 = ___

63+9 =___ o+ 6 = 20+9 =______ 35+8 =______ 77+ 9 = ______
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Name. Week of December 16
Spin again. I needed to spin time(s) to finish.
3xU4=___ 56+8 = ____ 5+8=___ 8x9=_____ 3+3=____
6+6=____ 8 -6=____ 7+5=____ 8+6=____ 7+3=___
5x7=___ 4U+8=____ 2+7 = ____ 7+3=____ 6x3=___

6 -4=__ 5+8=____ 8§ +4=__ 30s5=___ 8 -5=____
3+8=____ 8+9=__ 6x5=____ 7x6=____ 6+8=____
6+7=____ 9-5=____ 15+3 = 8 +4 =

3%5+9 =____ 58+9 =_____ B8+6=____ 26+9 =___ 68+5=__
79+8 = ____ 47 +8 = ____ 38+3 =____ 6+4=___ 27+4 =____
Uo+5=____ 56+8 = __ M+5=_____ 63+4 = _____ 27+3 =____
8+7 = ____ 55+7 = ___ S+4=____ 33+9 =___ Uo+6 =___
67+9 = ___ M+7 =_____ 37+4 =____ 27+8 =__ U3+5=___
55+3 =____ u+7 =____ B8+9=____ 73+8 = ___ U3+8 = _____
69+9 = ___ 35+8 =__ 4+6=______ B3+5=____ S4+5=__
U+7 = ____ 7+6=____ 58+4 =______ 29+8 =__ 68+6 =__
9+7 =___ 26+8 = ___ 79+8 = ____ H+5=____ U3+7 =____
53+3=____ b6+ Y4 = 39+ 4 =___ S4+9 =_____ 5+7=____
Us+5=___ 76+9 = ____ 28+6=____ 63+4 =_____ 4+4=____

53+8 = _____ 6+7=___ 37+5=___ 4+ 3 =___ 79+ 6 = ______
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There was a huge Halloween pqr‘l‘y at the BUhky and Binky, Amanda's peT rabbits are
city park. 518 children came to the party. By
8:30 p.m., 99 children had gone home. By
9:30 p.m., 185 more children had gone home.
How many children were left at the park?

going to have babies. The probability that a
baby will be all white is % If Bunky and
Binky have 12 babies, how many are likely to

be all white?

Connect coin groups to make 60 centfs. How many groups can you make?

20 pennies 15 pennies 10 pennies
2 quarters / nickels 1 dme
2 nickels 1 quarter 1 quarter

Anna was so into a book. She finally finished! She then spent 3 times as long playing a
game on her phone as she did reading. Anna spent a total of 84 minutes in her room

reading and playing the game. For how long did Anna read?
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A snow goose grows
to 19 inches. A Canada
goose may grow o 25
inches. How much
longer does a Canada
goose get than a snow
goose?

Peter made a model of
a log cabin using
toothpicks. He used 20
boxes of toothpicks to
build his cabin. There
were 250 toothpicks in
each box. How many
toothpicks did he use in
all?

Sarah is making cards
for Friendship Day. She
is putting 3.2 inches of
blue ribbon, 3.3 inches
of yellow ribbon, and 1.6
inches of green ribbon
on each card. How
many inches of ribbon
in all will she use on
each card?

April is making milkshakes.
She needs 1 % cups of
milk. Her measuring cup

only measures —— cup.

3
How many times will she
have to fill the cup to have

1 % cups of milk?

MathWorksheets.com
Week of December 16

Jacob works at
Mountain Springs Dairy
Bar. He makes
milkshakes and ice
cream cones. One day
he made 24 milkshakes.
One-fourth of the
milkshakes he made
were chocolate. How
many chocolate
milkshakes did he
make?

Wendy baked cookies for
the party for Mrs. Lee, her
teacher. The recipe calls
for % of acup of
chocolate chips and
makes 24 cookies. Wendy
made 40 cookies. How

many cups of chocolate

chips did she use?
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N

=16 _x3=15 _x9=63
=64 _x6 =30 Ux_=28
=20 _x9=45 _x3=24
=42 3x__=6 __x5=U5

2x9= bx2-=
/x3= / x9=
6x9-= 2xU=
3xb= 8xQ@=

a A . A 4 A 4 N
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Sarah is buying a new umbrella. She can
choose ared one, a blue one, or a yellow
one. She can have an umbrella with a

straight handle or one with a hooked handle.

Make a tree diagram to show the possible
combinations.

Mrs. Martin bought a CD with 13 old radio
programs on it. She listened to 7 of the
programs. She paid $16.77 for the CD. She
gave the clerk a $20 bill. What fraction of the
programs did she not listen to?

Justin never spends the coins he gets. He has 36 dimes. But that's nothing! He has 4 times

as many nickels as dimes. How much money does he have in all?

Nathan tried to write out the number for 70,581. He wrote seventy milion five hundred

eighty-one thousand. Is anything wrong?

word root spec can mean look

spectacle, spectator
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How many total legs are on 2x6= double 32 =
4 elephants and 5 ants?
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The block above is the sum of the two blocks below. Fill in the missing blocks.

93

159
42
) 37 12
2007 2185
1056
246 217 264
107 128
61 56
265 327
130
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Name:
Get a fidget spinner! Spin it. I needed to spin time(s) to finish.
Not Exact Estimate - With a Good Guess
r N N ( N
07+12 = _9_ 26+6 = _U4 47+7 = ___
Z \\ Z \\
N ( N (
97 +10 =~ 38+5 =~ J7+1 =
\. J \\ J \\ I
N N (
6011 ~ ____ 6312 = ___ 57+8 = __
Z \\ Z \\
N ( N (
368 = 5+4 =~ 26+3 =
\. J \\ J \\ I
N N (
29:3 = 63+10 = 264 =
Z \\ Z \\
N ( N (
39 =~ 43+5 =~ 70+9 =~
\. J \\ J \\ I
N N (
25+6 = 39+4 = 33+6 =
Z \\ Z \\
N ( N (
38+5 ~ ___ M+ = ___ 30+8 =~ __
\. J \\ J \\ I
N N (
88 +10 ~ 3+3 = 2+4 =
Z \\ Z \\
N ( N (
o4=1~=___ 76+9 = ____ Uo+12 =~ ___
\. J \\ J \\ I
N ( N (
37+5 = 51+10 = U5 +7 =
Z \\ Z \\
N ( N (
Hi+Q =~ 76+8 =~ 12 ~
\. J \\ J \\ I
N ( N (
n+3 =~ Us+6 = 8 +10 ~
Z \\ Z \\
N ( N (
27+5 =~ 327 = 55+9 =~
\. J \\ J \\ I
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Some vowels are missing in the word search.
Fill in the missing vowels and circle the words.

A AV CF N S H

N R S P C L C
G R C C S M

Cc C M P L S H
B R N D M J R
P L M AP CAMP
L A I AG N G E
N G R VYV ITEM
D L A DV I CE
OE I L ASP L

PLUM e GRACE e SPECIAL
GOING e BRAND o MAJOR
ADVICE e ACCOMPLISH e SPOIL
SEAM e DEAL e GRAVY e FINISH

Cadlculate the sum of 16, 16,
and 16.

The bakery sold some
donuts this week. The
owner said that the
number sold was the least
possible number that can
be made with the digits 3,
2,1, and 5. Each digit can
be used only once. How
many donuts were made?

What fraction of the Write the length in inches.

box is shaded? 7 2
I I - 22
| | ||I|||I|||I|||IIIIII|II|||I|||||||II|IIIIIII|III|

"4 2 3 4 5 ¢
2
Write an odd number with a Rewrite the adjective as an adverb.

two in the tens place. messy
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48 +4 =

3
Color 0

~N

+ 79

How many seconds are in
two minutes?

Write a fraction to represent what is shaded.

Colorin 1 . What is the third month with

0 30 days?

Holly and Rosa ran a race.
Holly came in fiftieth place.
Rosa was seven runners after
Holly. Write the ordinal
number for the place that
Rosa came in.

current time (pm) time party starts (pm)

How long until the party?

What number is ten thousand
more than 8,211?

The factors of bare  ____

2

6

Circle the abstract noun.
confusion brain earring hair
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Sudoku Sums of 6
Each row, column, and box must have the numbers 1 through 6. 1
Hint: Look for sudoku sums. The sum of the two boxes inside of 5
the dashed lines is 6.
Here is an example of a sudoku sum of 6&: 2 m
3 6
2
S 4
1 S5 2
3 1 4
Write the shaded part as a decimal. Write the number with 3
TT T T T T T 1 1 1] ten-thousands and 6 38
hundreds. +20

Locate where to put the number 445,000
and label the point F.

<l ! ! !

What are 10 equal to?

L

| T T T

440,000 460,000

=

How many inches are in two

What is a good estimate for

feet? 521 times 127
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Name:

1

1
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Name:

S5 e=e 0 ede2e9Q e3e=0e8ebHoele3e2e+e1le-=
2 e =

Use the pieces above to help you fill in the runaway math puzzle.

0
6|+|8|=]|7
1
5
- =10 -
0 1 9
7 +19|=|8 + 3
8 + 1 5
= 1 13| =
5 =
-
613|+|9 7
List the first five multiples of 6. The sum of two whole

numbers is twenty-one. The
difference between the two
numbers is one. What are

these two numbers?

w

word root cogn can mean know recognize, cognition
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Megan has a lot of cones! She put down one cone
outside of her house. She then walked seven
hundred inches and put down another cone. She
kept doing this. By the time she put down her last
cone she had walked four thousand, two hundred
inches. How many cones did she put down?

Wendy keeps getting better each time she plays
Zaplt. The first game she got 19,012 points, the
second game she got 24,019 points, and the third

time she got 29,026 points. A patternl Wow, weird.

What's your guess for how many points she will get
in her fourth game? Why?

Compare these numbers and write something
about them, such as why they are similar or
different.

18,090
4,090
92,090

Ackl Rose forgot how to unlock her phone, but it
has a special unlock program. The program says
that the unlock code is 4 digits. All the digits are
different numbers. The digit in the tens place is 2
less than the digit in the ones place. The digit in the
hundreds place is 1 more than the digit in the
thousands place.

Any number that fits the above rules will work. Can
you name one number that will work?
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20

.= Do it

N in your

Name: X
. . - n
Only use a pencil fo write the numbers on the blank Men‘l'ql “7

lines. You do not need any scrap paper! Solve it in M q.l.h

your head. If you forget a number, then start over. head!
Cool, huh?
imagine 2 in your imagine 9 in your imagine 5 in your imagine 2 in your
head head head head
add 6 double it subtract 4 add 4
double it add 5 add 5 subtract 5
add 1 multiply 7 add 7
subtract 7
subtract 8
Add the tens digit to
the ones digit.
Write the tens digit. Write the tens digit. Write the sum. Write the number.
A B C D

What is the sum?
A+B+C+D

Wow! Great job! That's the answer, but do you know how to SPELL the number?

t

4 )

3 aofter 11 5 before19 _____ 1 before 1
2aofter12 2 before 18 _____ 7/ beforetb _____
1aofter19 8 before 17 6 befored ______

. /
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Ll+6—+b+5 b+u+11+1%

Sameple: ﬁ 6 " Ll_‘
' 4 21 6 | 22— | v
\

9

is the su is the sum ‘ is the sum
‘ ‘ 1 4y

9
Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 2 % 1%, or 6 %

The other three numbers have to all be DIFFERENT and must be from these: 8, 5, 11, 6, or 4.

N T
241+ 3 292
5
Riniste
62 204 23|
% I
2

o
o
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Name:
Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: y % % or 8 %

The other three numbers have to all be DIFFERENT and must be from these: 5, 9, 2,4, or 3.

1 1 4 y 4
3 "T 2 | 19 5 8¢ ZZT 4
3 3 (3 3
‘ MT ‘ 204 43 ZOT‘ ‘
OO
1 1 1 3
1bTT 18T Mq
of (Jot e} | Wi

er
1
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Draw the missing emoijis. Explain the rule.

Name:

(9
DO

(9

Draw the missing emoijis. Explain the rule.

(ED
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SUBSCRIBE TO RECEIVE EVEN MORE

Answer Keys « Effective Activities « Accl:ess
to as many printables as you need!




Where can
I get more of this
great stuff?

More things for

IS ) the classroom!

More
science\.
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” Take The Boring

. Out Of Homework!/ <

L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.

1 -y

Homewark
will never be L
ihe samel 1A




